



03/02/2023 09:00 AM | Will Call 03/03/2023 07:00 PM | Event 03/06/2023 09:00 AM | Returned

PO: Shipping Address: 780-788- Amalfi Drive , Pacific palisades Harper Sloane Productions 12018 Coyne Street Los Angeles, CA CA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

| Description | | Qtty | Price | | Total |
|--------------|--|------|--------------------|---|----------|
| Existing Bed | | | | | |
| | Blankets - Ivory Fur W/ Canvas Backing | 3 | \$15.00 | T | \$45.00 |
| | Blankets - Faux Natural Fur Throw | 2 | \$15.00 | Т | \$30.00 |
| | Accent Pillow - Caramel Fur W/ Suede Backing | 3 | \$17.00 | Т | \$51.00 |
| | Accent Pillow - Montana - Faux Fur Cow Hide | 3 | \$17.00 | Т | \$51.00 |
| | Accent Pillow - Natural Black Mongolian Lamb Fur Lumbar | 1 | \$17.00 | Т | \$17.00 |
| | Accent Pillow - Natural Black Mongolian Lamb Fur | 1 | \$17.00 | Т | \$17.00 |
| | | | Total Existing Bed | | \$211.00 |
| Lounge | | | | | |
| | Coffee Tables - Rectangular Natural Wood | 2 | \$150.00 | T | \$300.00 |
| | Area Rugs - Tribal Tiles | 1 | \$175.00 | Т | \$175.00 |
| 59 193 P | Area Rugs - Tribal Octagon Medallion - Rust Orange | 1 | \$175.00 | Т | \$175.00 |
| | Floor Pillows - Cotton Print & Fringe - Black & Natural | 4 | \$30.00 | Т | \$120.00 |
| | Floor Pillows - Canvas - Ethnic Terracota Print & Fringe | 4 | \$30.00 | Т | \$120.00 |
| | Ottomans - Round W/ Fringes | 4 | \$30.00 | Т | \$120.00 |

| Description | | Qtty | Price | | Total |
|-------------|--|------|----------|---|------------|
| | Blankets - Cotton Circle And Tassels - Natural | 4 | \$15.00 | Т | \$60.00 |
| | Pendant Lamp - Hampton - Small | 2 | \$120.00 | Т | \$240.00 |
| Min | Bars - Lyon- Wood 6'8" | 2 | \$500.00 | Т | \$1,000.00 |
| | Barback - Lyon - Dark Wood | 1 | \$160.00 | Т | \$160.00 |
| | Oversize Props - Wine Barrel 37"h | 4 | \$75.00 | Т | \$300.00 |
| A | Barstools - Toronto - Upholstered W/ Light Wood Legs | 16 | \$30.00 | Т | \$480.00 |
| | Club & Lounge Chairs - London - Pony Chair Cream | 2 | \$200.00 | Т | \$400.00 |
| | Club & Lounge Chairs - London - Pony Chair Brown | 2 | \$200.00 | Т | \$400.00 |
| | Ottomans - Santa Fe - Animal Print Natural Faux Fur | 4 | \$30.00 | Т | \$120.00 |
| V | Coffee Tables - Hamptons - Natural Wood Rectangular | 2 | \$195.00 | T | \$390.00 |
| | Ottomans - Stripped Wool | 4 | \$25.00 | Т | \$100.00 |
| | Club & Lounge Chairs - Stockholm - Club Chair Red W/ Wood Frame Club & Lounge Chairs - Stockholm - Club Chair Ethnic Print Cover | 4 | \$150.00 | Т | \$600.00 |
| | Club & Lounge Chairs - Lyon - Vanity Chair Oatmeal | 4 | \$100.00 | Т | \$400.00 |

| Description | | Qtty | Price | | Total |
|--|--|------|----------|---|----------|
| | Area Rugs - Montana - Cowhide 01 | 1 | \$150.00 | Т | \$150.00 |
| | Area Rugs - Montana - Cowhide 02 | 1 | \$150.00 | Т | \$150.00 |
| | Area Rugs - Montana - Cowhide 03 | 1 | \$150.00 | Т | \$150.00 |
| | Area Rugs - Montana - Cowhide 04 | 1 | \$150.00 | Т | \$150.00 |
| | Area Rugs - Montana - Cowhide 05 | 2 | \$150.00 | T | \$300.00 |
| | Cow Hide - Extra | 4 | \$150.00 | Т | \$600.00 |
| | Area Rugs - Montana - Cowhide 06 | 1 | \$150.00 | Т | \$150.00 |
| | Area Rugs - Faded Tribal Beige | 2 | \$175.00 | Т | \$350.00 |
| | Area Rugs - Faded Medallion Burnt Orange | 1 | \$175.00 | Т | \$175.00 |
| | Ottomans - Casablanca - Boho Texture | 4 | \$35.00 | Т | \$140.00 |
| | Ottomans - Casablanca - Print & Natural Fringe | 4 | \$35.00 | Т | \$140.00 |
| AND THE PROPERTY OF THE PROPER | Ottomans - Casablanca - Fringe Ethnic Print | 4 | \$35.00 | Т | \$140.00 |
| mannasamo | Blankets - Cotton Chevron - Natural | 4 | \$15.00 | T | \$60.00 |
| | Blankets - Faux White Fur Throw | 4 | \$15.00 | Т | \$60.00 |
| | Blankets - Montana - Faux Fur Brown Cow Hide | 4 | \$15.00 | Т | \$60.00 |
| | Blankets - Printed Ethnic Saffron Throw | 2 | \$15.00 | T | \$30.00 |

| Description | | Qtty | Price | | Total |
|---|---|----------------------|----------------------------|-----|--------------|
| Description | Lanton Cons Cod Dating W/ Dang Handle 2ng Cot | | | т | |
| â | Lantern - Cape Cod - Patina W/ Rope Handle - 2pc Set | 12 | \$70.00 | T | \$840.00 |
| | | | Total Lounge | | \$9,305.00 |
| Services | | | | | |
| | Packing and Misc | 1 | \$600.00 | | \$600.00 |
| | Pulling Items -ANd restocking + Loading and off loading Fee | 1 | \$2,000.00 | | \$2,000.00 |
| Please make c | hecks payable to Revelry, Inc. | | Total Produc | ts: | \$9,516.00 |
| Note: Prior to o | Note: Prior to deliveries and pick ups all invoices must be pay in full | | Total Labor/Services/Misc: | | \$2,600.00 |
| Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it | | | Taxe | s: | \$0.00 |
| Notes | | Discounts: Total: | | | (\$9,516.00) |
| | | | | | \$2,600.00 |
| | | | Paymen | ts: | (\$0.00) |
| | | | Baland | ce: | \$2,600.00 |